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QUESTION 1

Your company has established inventory balances integration with 3PL system. Which option cannot be achieved out of
the box using this integration? 

A. Compare and automatically report inventory mismatches. 

B. Purge inventory balance message periodically. 

C. Resolve processing exceptions. 

D. Import inventory balance message in bulk. 

Correct Answer: A 

 

QUESTION 2

Your customer is setting up serial control. The requirement is that if item A has serial 123, then they do not want item B
to also have serial 123 within the same inventory organization. Which serial control setting must be used to meet this
requirement? 

A. Unique within items 

B. Unique across Enterprise 

C. Unique across organizations 

D. Unique within organization 

E. Unique within Item and organization 

Correct Answer: D 

 

QUESTION 3

An inventory transaction is imported to the system through an FBDI template. Which transaction state denotes that an
inventory transaction is created in the Oracle Cloud Inventory Management application? 

A. Validated 

B. Created 

C. Deferred 

D. New 

E. Staged 

Correct Answer: A 

 

Latest 1Z0-1073-21 Dumps | 1Z0-1073-21 VCE Dumps | 1Z0-1073-21 Study Guide                                2 / 3

https://www.passapply.com/1z0-1073-21.html
https://www.passapply.com/1z0-1073-21.html
https://www.passapply.com/1z0-1073-21.html


https://www.passapply.com/1z0-1073-21.html
2024 Latest passapply 1Z0-1073-21 PDF and VCE dumps Download

QUESTION 4

You have set up min-max planning at the subinventory level with the following to source item AS12312 for Organization:
M1: 

1. 

Source Type: Organization 

2. 

Organization: M1 

What type of supply request will be generated? 

A. Purchase Requisition 

B. Internal Requisition 

C. None; this is an invalid setup 

D. Intraorganization transfer order 

E. Movement request 

Correct Answer: D 

 

 

QUESTION 5

Which three statements about cost organization are correct? (Choose three.) 

A. Profit center business unit can have one or more inventory organizations. 

B. Profit center business units can have only one cost organization. 

C. All inventory organizations of a cost organization need to within the same business unit. 

D. A cost organization can have one or more inventory organizations. 

Correct Answer: ACD 
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